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QUESTION 1

A Junos device is configured with multiple routing protocols to the same destination prefix.
By Default, which route will be active in the forwarding table?

A. A static route

B. An OSPF route

C. An IS-IS route

D. A BGP route

Correct Answer: A

QUESTION 2

What are two benefits realized by the disaggregated Junos? (Choose two.)

A. There is increased flexibility to use different control plane versions.

B. The Junos VM becomes hardware-independent and can be deployed on any hypervisor without modification.

C. The architecture facilitates programmability through provisioning the control plane, the data path, and the platform
APIs.

D. The platform drivers and forwarding engine are removed from the control plane to increase performance.

Correct Answer: CD

QUESTION 3

What is the default firewall filter behavior when a term is matched but no terminating action is specified?
A. an implicit deny and the filter evaluation terminates

B. an implicit accept and the filter evaluation terminates

C. an implicit accept and the filter evaluation continues to the next term

D. an implicit deny and the filter evaluation continues to the next term

Correct Answer: C

QUESTION 4

What are two default password requirements on devices running Junos OS? (Choose two.)
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A. Passwords must be at least six characters in length.

B. An expiration date must be set.

C. Passwords must contain at least one special character.
D. Alphanumeric characters classes must be used.

Correct Answer: AD

QUESTION 5

Which two routing policy actions are considered policy flow control actions in the Junos OS? (Choose two.)
A. accept

B. next hop

C. next policy

D. next term

Correct Answer: AB

https://www.juniper.net/documentation/us/en/software/junos/routing-policy/topics/concept/policy- configuring-actions-in-
routing-policy-terms.html
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